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ML.A. (Semester-IT) Examination, June-2025
( Backlog )

ECONOMICS

(Macro Economics-II)

Time Allowed : Three Hours

Maximum Marks : 70

Note : This question paper is divided into four sections. All
sections are compulsory. Attempt questions as per
instructions given in each section. Distribution of marks

is given in each section.
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SECTION-A | GVs—3H

( Objective Type Questions )
( aggFrs ug )
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Note : Attempt any ten questions. Each question carries 1 -

mark.

[10x1=10]
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1. (i)
by:

(a)
(b)
(c)

(d)

The idea of consumption function is propounded

Prof. Hicks
Prof. Samuelson
Prof. J.M. Keynes

Prof. Irving Fisher

I Bee @ faer Reae 2/ Sfauid e

T ¥?
(a)
(b)
(c)

(d)

o e

o, JYTeE

q. SO, B
o 3T R

(i) The formula of Marginal Propensity to consume

is:
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(iii) If MPS=0.5 then the multiplier (K) will be :
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(iv) According to Keynes, investment means :

(a) By actual investment

(b) Through financial investment
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(c)
(d)

From both of the above

None of the above
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(v) Inducement to invest depends on :

(a)
(b)
(c)
(d)

Only on MFC
Only at the rate of interest
Both (a) and (b)

None of the above
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(vi)
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Formula of accelerator is :

(a)

(b)

(c)

(d)
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(vi)  Topreventinflation : (@) IS 9% HHEid 72 2ar 2
(a) control over money (b) IS I I &Y figgs sir z
(b) increases in taxes (c) IS T e IR fawes S 3
(c)  Bank rate should be increased (d) I1STF AT P A g AT 2
(d) All of the above (ix) When the economy is on the long run Phillips
W BT B R : Curve, we know that
(a) E & AEr ® B (a) we are at full employment
(b) & G ﬂﬁi T AT m%q (b) the unemployment rate is at its natural rate
© ¥ o § Ei% FT e (c) any rate of inflation could be consistent
with the current rate of unemployment
(d) IR T
(d) all of the above
(viii)  If government spending and taxes decreases by _ =
9 Srefeaen e e @ W A 3
the same amount, then : B
B ST R
(a) the IS Curve does not shift =
(a) B Tf IR W 2
(b) the IS Curve shift leftward .
(b) ST & G Y X W ¥
(c) the IS Curve shift rightward
(c)  TETERI & B sl X WS F adq
(d)  thelS curve shift downward XD Y B FEAl 3
mhm‘\@éaﬂrqrﬁﬁwwﬁm @) ST @
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(x) Import and Export of goods are known as : SECTION-B | Yvg-4

(a) Nominal trade (Very Short Answer Type Questions )

(b)  Invisible rade (afr wg salm gw )

(c) Visible trade Note : Altempt any five questions. Each question carries 02
marks. (Word limit : 25-30 words) [5%2=10]

(d) None of the above . . )
o=l dfe nesit % S dif e g9 02 i @ B
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(@) A T AT 2. (i) What is Marginal Propensity to Save (MPS)?
(b)  STEYY MR dmiq a=a mgfr (MpPs) a1 27

(c) ST AR (i) Write two determinants of propensity to consume.
OGS AT g & & e aw e

(xi)  The principle of accelerator was used for the first (iii) Why does IS Curve slope downward?

IS @b e F IR Ft frear gan A 27

time
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(iv) Write any two causes of Inflation.

(xii)  Phillips curve shows relationship between

rate of unemployment and rate of inflation. Wﬁf & {6t & et @ ltew]
feefere @b ST ot aX ol garwify 1 & (v)  Whatis Deflation?
F A ... AT B Famr 2 T T 2
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Note :

(vi)  What is permanent Income theory of

consumption?
ST F R ST Ry @&y 7

(vi)  Write any two differences between balance of

payment and balance of trade.

YR FGH SR A I & drer Rt o
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SECTION-C / gvs-9q
( Short Answer Type Questions )
(@ Swlda ue )

Attempt any five questions. Each question carries 04

marks. (Word limit : 250 words) [5%4=20]
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(i) Write any five determinants that affect the

Marginal efficiency of capital.

Yol 21 I SeHaT B T B A Rt
9= e il @ Rl
(i) Write the reasons of cost-push inflation.

AA-IRG WG $ HROT a7 R
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Note :

(iii) What are the causes of shift of Phillips Curve?
feferer @ & faada & a7 wmor 37

(iv) Mention the limitations of Multiplier.
IO T g

(v) What is Tobin's modified Phillips curve?
e B donfaa fefersr a6 37

(vi) Write a short note on concept of MPC and APC.
MPC &iIR APC 1 aon a¥ &fera feaqeft

(vii)  Write a short note on the monetary approach of

balance of payment.
PRI GG & A ST W g el
[Sliend
SECTION-D / @vs-§
( Long Answer Type Questions )

(&4 Sol wew )
Attempt any three questions. Each question carries 10
marks. (Word limit : 500 words) [3x10=30]
el i oot B I T TS SR 10 ST @ B
(9= i : 500 =) ‘
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4, (i) What is the meaning of Consumption Function?
Explain the factors affect the propensity to

consume.
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(i) Discuss the main determinants of inducement to

investment in a capitalist economy.

% Goliard ereferaen § ff@m @ dvom R
& el W iR w5 87

(iii) What do you understand by Inflation? How could

it be controlled?

i & 1 el @F 39 5 wer et
R ST el 87

(iv) With the help of IS-LM curve model, describe the
effects of changes in fiscal and monetary policies

by the Government on the Economy.

TR W GHR BN RN oo AiEs
il § qiads $ 99T H1S-LM 95 Hisd &

TR § W FHiog)
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